E e olEI=E=HAPF=HEmIERE ELEEFZEZMEBE  R==FIF B FE

HEEREFEITBEEDE 8:15 2K THEa8HhE 8 :30
WHEDIBE 8 :30

B ooz | kS w4 | k8 (2x) | B@E ()| %8
(81 HEHY 7H22H (X)
9 : 45 |FAK
10: 00]%k 4x100m JFEAIHEL1E+ 4
20]|B 4x100m F$ESH1EF+3
4 5|8 3000m RE2MiIL4L-2
11 : 15 ]|%ME 100mH 3 # = i g Bk xaAEA
3O0|BEmfE 11 0mH | BES %
45|xk1E 100m PESHIFT+ 1
12 :00|B14& 100m FE4#HIZE+ 4
15 |% 200m FESHMIFL+
30|B8 200m FEO6HHI3FL 6
55 |& 1500m RE2MIIAV-2
13: 10|58 8 00m RIBFIHMIILL-2 5 E 18 Bk
25|14 100m#ERB2MIB+ 2
35|BE1H 100m#ERB2M37F+ 2
4 5 |% 200m#ERBK2MIBFT+2 |ZUESHB B mfaiiA
55 |8 200mERBIM2F+ 2
14 : 35|B14£1500m REB2MiILb-2
55|X1% 100m R
15: 00|15 100m R
05 |% 200m R
10 |8 200m REB
(£ 288 7AH238 (XK)
9 : 30]|% 1TOOMHPEAMHM1E+4|BEmESHB Z MR AR A
4 5|8 110mHFE2#H3IF+ 2
10 : 00]|%X3% 100m FESHEHIBE+ 1
15|lx2% 100m FEB7HIF+S|HESHA
35|B3&% 100m FE7#H3%F+3
55|28 100m $ES5H#H3EF+ 1
11 :15|ZME 200m 3 #H
30|28 4 00m FEA4H1E+4
4 5 |% 8 00m REBFIHMIILL-2
12 : 00|Bmf E 400m | i A
15|X3F 100mERK2M3IFT+2|BEEEHSB
25lx2&8 100mERBKIM2F+ 2
35|B3F 100m#fRBIM2E+ 2
45|82 100m#ERBE2M3IFT+ 2
13:20|% 10 0mHRE
30|88 11 0mHRE
40 |8 4 00m R
50|%3& 100m R
55| 2% 100m RE
OO|E3&F 100m RE
14 : 05|82 100m R
10|2E23&F1500m RBE2HMI(AV-
E RO BEE
14 :55|%5 4x100m RE
15: 00|88 4x100m R
15 :10|E%




